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QUESTION 1
An NSX administrator has been tasked with deploying a NSX Edge Virtual machine through an ISO image.

Which virtual network interface card (vVNIC) type must be selected while creating the NSX Edge VM allow patrticipation in
overlay and VLAN transport zones?

A. e1000

B. VMXNET2
C. VMXNET3
D. Flexible

Correct Answer: C

QUESTION 2

Which three different transport nodes could be configured in the data plane? (Choose three.)
A. vShield Edge VM

B. ESXi and KVM

C. Bare Metal server

D. NSX Edge VM on KVM

E. ESXi and Hyper-V

F. VM or Bare Metal NSX Edge

Correct Answer: BCF

QUESTION 3

How is the intra-tier transit link connection created between SR and DR for a Tier-0 Gateway?
A. Manually create a gateway interface and mark it as transit.

B. Automatically created when DR is created.

C. Automatically created when SR is initialized.

D. Manually create external uplink interface and mark it as transit.

Correct Answer: C

Reference:https://blogs.vmware.com/networkvirtualization/2018/01/nsx-t-routing-part-2.html/
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QUESTION 4

What needs to be configured on a Tier-0 Gateway to make NSX Edge Services available to a VM on a VLAN-backed
logical switch?

A. Service interface

B. Loopback Router Port

C. Downlink interface

D. VLAN Uplink

Correct Answer: A

"The service interface is a special-purpose port to enable services for mainly VLAN-based networks. North-south
service insertion is another use case that requires a service interface to connect a partner appliance and redirect north-

south traffic for partner services. Service interfaces are supported on both active-standby Tier-0 logical routers and
Tier-1 routers. Firewall, NAT, and VPNSs are supported on this interface. The service interface is also a downlink"

QUESTION 5

Which discovery protocol is supported for hypervisor transport nodes?
A. Adobe Real-time CDP

B. Neighbor Discovery Protocol

C. Cisco Discovery Protocol

D. Link Layer Discovery Protocol

Correct Answer: D
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